4.3
The Minor-Minor two Suiter

Here we are covering the four sequences: -

Sequence A/B:

1NT -   2( 
- 2NT/3( 
- 3(    and   

Sequence C/D:

1NT -  2NT
-   3(/( 
- 4(      

So what type of hand do we need for a transfer to one minor and then bidding the other? It needs to be pretty strong, of course, as the auction is game forcing. Let’s consider a few candidates: -

Hand 1
Hand 2
Hand 3
Hand 4
Hand 5


( KQ7
( Q8
( 87
( A
( 10
 

( 7
( J7
( 2
( A2
( 7
 

( AQ976
( KQJ42
( Q8752
( KJ872
( 10986543
 

( KQ98
( AQ42
( K8752
( AQJ76
( AKJ4
 

Hand 1
is strong enough to look for slam but the hand is playable in 3 suits. We come on to this later and a splinter is best with this hand type. We see this hand again in sections 5.2 and 5.4 

Hand 2
We saw this hand earlier - example 7 in the SARS section 2.5.2.  With just 9 cards in the minors it is usually best to use SARS because: -


1. 
Opener will know that when you do use sequence A or B then you have at least 
10 cards in the minors.


2.
It is easy to locate either a 4-4 ( fit or 5-3 ( fit (or better) using SARS.


3.
NT may be the best strain.

Hand 3
We see this hand later (section 5.2) when we come on to discuss the meaning of a direct jump to 3(. This hand is weak and a convention that I don’t like uses the 3( bid to show a weak hand 5-5 in the minors. I cover this later, but I would simply pass 1NT. This hand is not strong enough for Sequence A/B which is game forcing.

Hand 4
is typical for sequence A/B. It is looking for slam and we meet this hand soon.

Hand 5
just wants to play in the best minor suit game. So transfer to (’s and then bid 4(. You should then end up in the correct game.


When partner opens 1NT and we only have minor suits then NT is very often the best strain. However, there are exceptions. Typical such exceptions are: -

1)
We have a poor hand with no real entries outside a (minor suit) ruff, or possibly too many quick losers in NT.

2)
We are looking for slam!

1)

Let’s look at the poor hands first (partner opens a strong NT): -

Hand A
Hand B
Partner opens 1NT. Hand A is very weak, with no game 


possibilities. Best is to simply transfer into (’s and play in 3(. 

( 4
( 4
There is no room to subsequently mention the ( suit. 

( 9
( 9
Hand B is different. There is good chance of game (5( or 5()

( J98632
( K108632
if partner has a suitable hand. So transfer in to (’s and then bid 

( J9842
( KJ974
4(, forcing. 






________________________

Example 1

West
East (B)
West

East

(1)
transfer to (’s







(2)
normal accept

( J96
( 4
1NT

2NT
(1)
(3)
2nd suit, forcing
 

( AK87
( 9
3(
(2)
4(
(3)


( Q4
( K108632
?
(4)




( AQ65
( KJ974


Exactly what West should bid at (4) and how the auction stops in 5( is covered when we complete this example in section 4.3.3. If partner super-accepts the transfer to (’s then responder should still bid 4( at (3) as there may be a superior ( fit. 

2)
We are looking for slam!

Hand C
Hand D
Partner again opens a strong NT. This time we have a great 



two-suiter. Partner must have at least 3 card support for one of
( 4
( 4
our minors (he opened 1NT). So we transfer into our longest minor


( 9
( 9
and then bid the other. Thus we have: -

( AK842
( KQ9754


( KQ9754
( AK842


With Hand C:
1NT -   2( 
- 2NT
- 3( etc.   Sequence A
(super-accept)

or
:
1NT -   2( 
-  3( 
- 3( etc.   Sequence B
(normal accept)

With Hand D:
1NT -  2NT
-  3(
- 4( etc.   Sequence C
(super-accept)

or
:
1NT -  2NT
-  3(
- 4( etc.   Sequence D
(normal accept)

We only transfer into a minor and then bid the other when holding 10+ cards in the minors; with 5-4 or 4-5 we would use SARS. Now we have an idea about suitable hands for sequences A - D, but what are the continuations?

4.3.1
  Asking for Aces or Key cards when Responder has a Minor-Minor Two Suiter
After sequence A/B opener or responder may eventually ask for key cards. After sequence C/D it is only responder who may ask – we come onto that later. Since responder has at least ten cards in the minors in all of the sequences we need to use DRKCB (or EDRKCB). The actual bid for this ask will be discussed later, but the replies are as expected –

After a keycard ask the responses are: -

Next step
=
0 or 3 key cards
 

Next step + 1
=
1 or 4 key cards


Next step + 2
=
2 or 5 key cards, no (Q or (Q

Next step + 2
=
2 or 5 key cards + (Q or (Q or both

After a 0/3 or 1/4 response the next free bid asks for queens. The responses are: -

Next step
=
no queen
 

Next step + 1
=
(Q


Next step + 2
=
(Q

Next step + 3
=
both queens 

And after a 2/5 response showing a queen, the next free bid asks for clarification: -

Next step
=
(Q


Next step + 1
=
(Q

Next step + 2
=
both queens

Further Extensions to DRKCB (and EDRKCB)

Now we have seen that the key queens are very important cards, usually more important than a non-key king. But very occasionally asker may need to know about outside kings, the way to ask is that the free bid above a queen ask or queen clarification asks about non-key kings. If the response to DRKCB was 2/5 denying a queen then it’s the next free bid that asks for kings. And after a queen ask or clarification and response then the next free bid asks for kings.

The responses to a king ask are: -
Next step
=

no king
Next step + 1
=
(K

Next step + 2
=
(K

Next step + 3
=

both kings

This king ask is normally only employed when all the key cards and key queens are present and a grand slam is in the offing.
4.3.2
The continuations after Sequence A/B,   1NT -  2( - 2NT/3( - 3(   

So here we are specifically considering the sequences: -

Sequence A:
 1NT -   2( 
- 2NT
- 3( … 
(super-accept)

Sequence B:
 1NT -   2( 
-  3( 
- 3( …
(normal accept)

It does not matter if opener has super-accepted or not as the continuations are identical. 
With Sequence A or B (as opposed to Sequence C or D) we are at a nice low level and either party can describe their hand/get in the appropriate Blackwood bid or whatever in relative ease. Responder’s 3( bid is forcing to game and typically shows 5-5 or 4-6 or 5-6 in the minors (usually more (’s than (’s or equal length). Opener has two possible bids below 3NT (3( and 3() and these will be defined shortly

Opener’s options are thus 3(/( (to be defined) 3NT (natural) or 4(/(. The 4(/( bids state that 3NT is questionable and that a ( or ( contract would be preferable.

We will be covering everything in detail shortly, but let’s first set the groundwork. Clearly opener will bid 3NT with cover in both majors, but what should opener do if he cannot bid 3NT? Presumably he cannot bid 3NT because he has one or two doubtful majors. In that case he has good cards in one or both minors and slam could well be there if responder has a decent hand. But how should opener continue? What would a 3( or 3( bid mean?

Without discussion these would probably be cue bids, but with a weak major it is surely best for opener to find out about responder’s major suits, in particular shortage.

Here we are specifically concerned with sequence A/B. 3NT is natural. 4( and 4( are best used to set trumps when opener has no desperate need to establish responder’s shortage. These bids generally deny a major suit ace. We shall use 3( as the shortage ask and we use 3( as a general waiting bid when opener has no 4 card minor (so can’t bid 4(/(), is not really interested in shortage and cannot bid 3NT. All of this is covered shortly.

So after  1NT -  2( - 2NT/3( - 3(   we have: -

3(
=
shortage ask

3(
=
a waiting bid

3NT
=
natural, both majors covered

4(
=
(’s are trumps

4(
=
(’s are trumps


Here we have 4 distinct bids (4( & 4( are similar) that opener may make and we will be covering them all in detail in this order: -

4.3.2.1
3NT
- natural, both majors covered.

4.3.2.2
3(

- shortage ask.

4.3.2.3
4(/(
- natural, setting the trump suit

4.3.2.4
3(

- a waiting bid.

4.3.2.1
3NT - natural, after sequence A/B
With cover in both majors, opener tries 3NT: -

Example 1

West
East
West
East
(1)
transfer to (’s







(2)
normal accept

( AQ64
( 9
1NT
2(
(1)
(3)
2nd suit, forcing

( AQ64
( 103
3(
(2)
3(
(3)
(4)
both majors covered

( Q64
( A9872
3NT
(4)
pass
(5)


( K5
( AJ874 


(5)
East has shown his shape and is more than happy if West has both majors covered and suggests 3NT.







________________________

But opener does not really need such robust majors. He should assume that responder has a decent hand and so all he really needs is stops in both majors.

Example 2

West
East
West
East
(1)
transfer to (’s







(2)
normal accept

( QJ64
( 9
1NT
2(
(1)
(3)
2nd suit, forcing

( KJ64
( 103
3(
(2)
3(
(3)
(4)
both majors covered

( KQ4
( A9872
3NT
(4)
pass



( K5
( AJ874 






________________________

Very occasionally responder will wish to pull this 3NT to 5 of a minor.

Example 3

West
East
West

East


(1)
transfer to (’s








(2)
normal accept
( K87
( 10
1NT
2(
(1)
(3)
2nd suit, forcing

( AJ10
( 7
3(
(2)
3(
(3)
(4)
both majors covered

( Q753
( AKJ4
3NT
(4)
5(
(5)
(5)
pass or correct

( AJ2
( 10986543
5(
pass




________________________

But if responder has a strong slam seeking hand he will make a noise over 3NT.

Example 4

West
East
West
East
(1)
transfer to (’s







(2)
normal accept

( QJ64
( 9
1NT
2(
(1)
(3)
2nd suit, forcing

( KJ64
( A
3(
(2)
3(
(3)
(4)
both majors covered

( KQ4
( A9872
3NT
(4)
?

(5)

( K5
( AQ8764
Now the continuations after 3NT when responder wishes to look for slam have to be defined: -

After  1NT -  2( - 2NT/3( - 3( - 3NT  we have: -
4(
=
DRKCB




4(
=







4(
=
EDRKCB




4(
=
EDRKCB




4NT
=
quantitative




5(
=
pass or correct 


Example 4 cont.




West

East





3NT
(4)
4(
(5)
(5)
DRKCB




4NT
(6)
6(

(6)
2 key cards + a queen



6(

pass




________________________

Example 5

West
East
West

East

(1)
transfer to (’s









(2)
super-accept

( QJ64
( -
1NT

2(
(1)
(3)
2nd suit, forcing

( KQ6
( A
2NT
(2)
3(
(3)
(4)
both majors covered

( KQ4
( A98762
3NT
(4)
4(
(5)
(5)
EDRKCB

( K52
( AJ8764
5(
(6)
5(
(7)
(6)
2 key cards + a queen



6(
(8)
6(
(9)
(7)
clarify queens




pass



(8)
(Q only

East is not certain about the grand at (9) – he was hoping for a two queen reply. He knows that West has the (KQx(x) and that the (Q is missing. There is no real way to establish if the (K is doubleton or not and so stopping in 6( is very sensible.




________________________

Now very occasionally (when both key queens are present) responder may wish to ask for major suit kings.

Example 6

West
East
West

East

(1)
transfer to (’s









(2)
normal accept

( QJ64
( A
1NT

2(
(1)
(3)
2nd suit, forcing

( QJ64
( A2
3(
(2)
3(
(3)
(4)
both majors covered

( AQ4
( KJ872
3NT
(4)
4(
(5)
(5)
DRKCB

( K5
( AQJ76
4NT
(6)
5(
(7)
(6)
2 key cards + a queen



5NT
(8)
6NT
(7)
non-key kings?




pass


(8)
neither

If East had bid 5( at (7) then that would ask for clarification of queens. So the next free bid asks for kings (confirming that all key cards and key queens are present). Either major suit king would have been enough for the grand.




________________________

Sometimes responder will have to ask for queens before a king ask.

Example 7

West
East
West

East

(1)
transfer to (’s









(2)
normal accept

( K964
( A
1NT

2(
(1)
(3)
2nd suit, forcing

( Q864
( A2
3(
(2)
3(
(3)
(4)
both majors covered

( AK4
( Q10872
3NT
(4)
4(
(5)
(5)
DRKCB

( KQ
( AJ976
4(
(6)
4(
(7)
(6)
3 key cards 



4NT
(8)
5(
(9)
(7)
queens?




6(
(10)
7NT

(8)
(Q only




pass



(9)
non-key kings?








 (10)
(K
Note the importance of playing DRKCB as opposed to RKCB. East needed to establish both the (K,Q and the (Q before investigating the grand.




________________________

4.3.2.2
3(
- The shortage ask after sequence A/B.
Let’s see how the shortage ask works. Responder has at least 10 cards in the minors (with 5-4 or 4-5 he uses SARS) and so has at most 3 cards in the majors.

after  1NT -  2( - 2NT/3( - 3(,   3( enquires about responder’s shortage: -

3(
=
singleton (
3NT
=
singleton (
4(
=
void (
4(
=
void (
4(
=
EDRKCB



4(
=
EDRKCB

4NT
=
DRKCB

5(
=
no slam interest – pass or correct.

Responder uses the 4(/(/NT bids when he has a hand that is too strong to allow opener to take charge (a possible grand slam).

    


        _________




___________________________


___________________________________________________

Warning:
This shortage ask and the 3( waiting bid are something new and unless you have agreed it, most players would take them as a cue bids. Be very careful. If you (or your partner) are likely to forget this convention (and make a cue bid) then skip this section!




___________________________________________________





___________________________





              _________

If opener bids 4( after ascertaining the shortage this is DRKCB. 

Example 1

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( J72
( 9
1NT
2(
(1)
(3)
2nd suit, forcing

( AJ7
( 63
2NT
(2)
3(
(3)
(4)
shortage?

( KQ64
( A8732
3(
(4)
3NT
(5)
(5)
singleton (




( AQ5
( KJ874 
4(
(6)
5(
(7)
(6)
DRKCB



6(

pass

(7)
2 key cards, no queen





________________________

That clearly works fine. But after a response to the shortage ask that defines the singleton/void opener may wish to show no further slam interest. This is easy when the response is at a lowish level (4(/( = no slam interest and 4( = DRKCB) but if 4(/( are not available then we have to define the no slam interest bids. Simple, we use 5(/( when the 4 level is unavailable. Thus we have: -

After  1NT -  2( - 2NT/3( - 3( - 3(: -   



Responder replies: -
Opener’s next bid: -

3(
=
singleton (

(
4(
=
DRKCB,
4(/4(
=
no slam interest

3NT
=
singleton (
(
4(
=
DRKCB,
4(/4(
=
no slam interest

4(
=
void (
(
4(
=
DRKCB,
5(/4(
=
no slam interest

4(
=

void (
(
4(
=
DRKCB,
5(/5(
=
no slam interest

After any of the ‘no slam interest’ bids by opener, 4( by responder is always DRKCB. Now there would appear to be a problem when opener has bid 5( or 5(. But actually there is not; if responder has a void and is still interested in slam after opener has signed off opposite the void, then responder has a hand strong enough that he should have ‘broken’ the shortage ask by bidding EDRKCB over opener’s 3( bid.

Example 2

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( J72
( 63
1NT
2(
(1)
(3)
2nd suit, forcing

( AJ7
( 9
2NT
(2)
3(
(3)
(4)
shortage?

( KQ64
( A8732
3(
(4)
3(
(5)
(5)
singleton (




( AQ5
( KJ874 
4(
(6)
5(
(6)
wrong shortage





pass





________________________

Example 3

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( J72
( A3
1NT
2(
(1)
(3)
2nd suit, forcing

( AJ7
( 9
2NT
(2)
3(
(3)
(4)
shortage?

( KQ64
( A8732
3(
(4)
3(
(5)
(5)
singleton (




( AQ5
( KJ874 
4(
(6)
4(
(7)
(6)
wrong shortage





4(
(8)
4NT
(9)
(7)
DRKCB





5(
(10)
6(or 6NT (11)
(8)
3 key cards





pass


(9)
queens?








 (10)
both

(11) East knows that 7( may well make, but not if West is 4243.





________________________


With a rock crusher responder cannot let opener take control and so he has to ‘break the shortage ask’ by bidding DRKCB or EDRKCB over the 3( shortage ask. Remember, responder knows that opener is interested in at least one of the minor suits (not necessarily (’s even after a super-accept) and has a major suit ace when making a shortage ask.

Example 4

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( J72
( AK
1NT
2(
(1)
(3)
2nd suit, forcing

( AJ7
( 9
2NT
(2)
3(
(3)
(4)
shortage?

( KQ64
( A8732
3(
(4)
4NT
(5)
(5)
DRKCB



( AQ5
( KJ874 
5(
(6)
5(
(7)
(6)
3 key cards





6(
(8)
7(

(7)
queens?





7(

pass

(8)
both





________________________

And when responder has a void and wants to take control, it’s EDRKCB.

Example 5

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( J72
( -
1NT
2(
(1)
(3)
2nd suit, forcing

( AJ7
( KQ
2NT
(2)
3(
(3)
(4)
shortage?

( KQ64
( A8732
3(
(4)
4(
(5)
(5)
EDRKCB



( AQ5
( KJ8764 
4NT
(6)
5(
(7)
(6)
3 key cards





6(
(8)
7(

(7)
queens?





7(

pass

(8)
both





________________________

When responder wants to settle in 5 of a minor he should bid 5( and offer opener the choice of minor suit.

Example 6

West
East
West

East

(1)
transfer to (’s







(2)
normal accept
( Q87
( 6
1NT

2(
(1)
(3)
2nd suit, forcing
 

( AJ10
( 7
3(
(2)
3(
(3)
(4)
shortage?

( K7532
( AQ84
3(
(4)
5(
(5)
(5)
pass or correct


( AJ
( 10986543
5(

pass

(5)
East cannot be sure which suit West likes. It’s probably (’s but it could just be (’s. East wants to play in game in the best one and so bids 5( which West will correct.
________________________

4.3.2.3
4(/(- setting the trump suit after sequence A/B.
When West has reasonable holdings in both majors there is little point in asking for shortage (and he should have a (/( ace for the shortage ask). If the majors are not good enough for 3NT then he has to find another bid. With definite preference for one minor           (a 4 card suit) then he bids 4 of the minor to set trumps: -

Example 1

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( QJ2
( 63
1NT
2(
(1)
(3)
2nd suit, forcing

( Q84
( 9
2NT
(2)
3(
(3)
(4)
I prefer (’s

( KQ65
( A8732
4(
(4)
5(





( AQ5
( KJ874 
pass






Note that it is unlikely that West has a major suit ace when he bids 4(/( as he would normally then ask for shortage.



________________________

When opener bids 4(/( over 3( it sets the trump suit (although we still use DRKCB of course). It’s easiest on the memory if we use 4(/( as the EDRKCB bids.

After  1NT -  2( - 2NT/3( - 3( - 4(

After  1NT -  2( - 2NT/3( - 3( - 4(
4(
=
DRKCB
4(
=
EDRKCB

4(
=
EDRKCB
4(
=
EDRKCB

4(
=
EDRKCB
4NT
=
DRKCB 





________________________

Example 2





West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( QJ6
( A3
1NT
2(
(1)
(3)
2nd suit, forcing

( QJ5
( 2
2NT
(2)
3(
(3)
(4)
I prefer (’s

( AJ96
( KQ732
4(
(4)
4NT
(5)
(5)
DRKCB



( AJ5
( KQ987
5(
(6)
6(

(6)
2 key cards, no queen




pass







________________________

4.3.2.4
3( - a waiting bid after sequence A/B.
 When opener makes the ‘waiting’ 3( bid then the onus is back on responder. The 3( bid generally denies a major suit ace (otherwise opener would ask for shortage) and also denies good enough majors to bid 3NT. Responder will often sign off in five of a minor. But with a good hand (either a major suit ace or a void) he may press on. The responses to the ‘waiting’ 3( are: -

after  1NT -  2( - 2NT/3( - 3( - 3(   we have: -

3NT
=
DRKCB

4(
=
EDRKCB ((’s)

4(
=

EDRKCB ((’s)

4(
=


4(
=



4NT
=

please bid 5( or 5(
Example 1

Here West has a holding not good enough for 3NT and so with no definite preference for either minor he passes the buck with a ‘waiting’ 3( bid: -

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( Q92
( 63
1NT
2(
(1)
(3)
2nd suit, forcing

( QJ64
( -

2NT
(2)
3(
(3)
(4)
waiting

( KQ6
( A8753
3(
(4)
4NT
(5)
(5)
please bid 5( or 5(



( AQ5
( KJ8742
5(

pass



________________________

The 3( waiting bid is generally not interested in slam, just the best minor suit game. But East may have a more powerful hand: -

Example 2

West
East
West
East

(1)
transfer to (’s








(2)
super-accept

( Q92
( A
1NT
2(
(1)
(3)
2nd suit, forcing

( QJ42
( 3
2NT
(2)
3(
(3)
(4)
waiting

( KQ6
( A8753
3(
(4)
3NT
(5)
(5)
DRKCB 


( AQ5
( K98742
4(
(6)
4NT
(7)
(6)
2 key cards + a queen


5(
(8)
6(
(9)
(7)
clarify queens



pass

(8)
both







(9)
pass or correct

4.3.3
The continuations after Sequence C/D,   1NT -  2NT - 3(/( - 4(    

So here we are considering the sequences: -

Sequence C:
 1NT -   2NT 
-  3(
-  4( … 
(super-accept)

Sequence D:
 1NT -   2NT 
-  3( 
-  4( …
(normal accept)

With big hands and equal length minors (5-5) it is best to transfer into (’s as there is then more bidding space to investigate slam.

So here responder has more (’s than (’s, usually 6 (’s and 4 or 5 (’s. But note that with a good hand with 6 (’s and 5 (’s it may well be best to use sequence A/B as there is so much more room for investigating slam.

After    1NT -  2NT - 3(/( - 4(,  opener does not know if responder is weakish or not. What’s more there is precious little room and opener cannot bid much higher because responder needs room for a possible Blackwood bid. If opener were to bid 4NT then 5( or 5( by responder would be a sign off and so there is no room for Blackwood. Responder could elect to use Sequence A or B of course when everything is simple. But if responder has longer (’s than (’s and slam interest he may choose the more space consuming route in order to emphasise his (’s. 

Hand E
Take Hand E for example. Partner has opened 1NT and this hand wants to be in 


slam. 6 or 7( will be fine with a 4 card ( fit, but with no ( fit a 6-3( fit will do


( -
nicely. So this hand really has to use Sequence C/D. Now it is also possible to bid


( A73
SARS or a splinter with this type of hand and I would not argue (but the (’s are 

( KJ9754
a bit too weak for a splinter), but most people would prefer the more natural 

( AK84
approach to emphasise their good suits, so transfer into the long suit and then 

bid the other.

As it certainly is possible that responder has slam in mind and needs bidding space opener cannot bid too high. Thus we restrict opener’s next bid to 4(; this is a simple waiting bid. This then leaves responder maximum room to investigate slam.

After the 4( waiting bid responder’s options are: -

4(
=
EDRKCB

4(
=
EDRKCB

4NT
=
DRKCB 

5(
=
pass or correct

Example 1
An example from a recent teams event. 3NT was reached at one table and 5(  
at the other (neither were successful). The bidding given shows how the best 
contract can be reached if you play 4-way transfers.

West
East
West

East



( K87
( 10
1NT

2NT
(1)

 

( AJ10
( 7
3(
(2)
4(
(3)

( AJ
( 10986543
4(
(4)
5(
(5)

( Q7532
( AKJ4
pass 

(1)
transfer to (’s 


(2)
not quite good enough to super-accept

(3)
(-( two suiter, game forcing

(4)
forced (waiting)

(5)
East signs off. He bids 5( which West will normally correct to 5( unless he has 4+ (’s. 

Note that in this sequence East may be weak(ish) and West cannot take control (with DRKCB or whatever). The 4( bid at (4) is mandatory.





_______________________

If opener has a very suitable hand he may occasionally over-rule responder’s decision to sign off in 5 of a minor. Opener knows that responder probably has a singleton in each major.

Example 2


West
East
West

East



( J7
( 10
1NT

2NT
(1)

 

( AJ10
( 7
3(
(2)
4(
(3)

( AK2
( 10986543
4(
(4)
5(
(5)

( Q7532
( AKJ4
6(
(6)
pass


(1)
transfer to (’s 


(2)
super-accept

(3)
(-( two suiter, game forcing

(4)
forced (waiting)

(5)
East signs off. 

(6)
With excellent minors and a major suit ace, 6( is a good bet.

Example 3


But it will very often be responder who is looking for slam: -

West
East
West

East

(1)
transfer to (’s







(2)
normal accept

( K875
( 4
1NT

2NT
(1)
(3)
2nd suit, forcing
 

( AJ10
( 9
3(
(2)
4(
(3)
(4)
waiting

( AJ
( KQ9754
4(
(4)
4NT
(5)
(5)
DRKCB

( Q753
( AK842
5(
(6)
6(
(7)
(6)
2 key cards + a queen



pass



(7)
pass or correct



________________________

Example 4


With a void, responder uses EDRKCB: -

West
East
West

East

(1)
transfer to (’s







(2)
normal accept

( K875
( -
1NT

2NT
(1)
(3)
2nd suit, forcing
 

( KJ10
( A73
3(
(2)
4(
(3)
(4)
waiting

( AQ
( KJ9754
4(
(4)
4(
(5)
(5)
EDRKCB

( Q753
( AK84
5(
(6)
5(
(7)
(6)
1 key card


6(
(8)
7(
(9)
(7)
queens?


pass



(8)
both







(9)
pass or correct




________________________

Finally, remember this example 1 from the start of section 4.3? We now know how East signs off in 5 of a minor: -

Example 1(4.3) cont.

West
East (B)
West

East

(1)
transfer to (’s







(2)
normal accept

( J96
( 4
1NT

2NT
(1)
(3)
2nd suit, forcing
 

( AK87
( 9
3(
(2)
4(
(3)
(4)
waiting

( Q4
( K108632
4(
(4)
5(
(5)
(5)
pass or correct



( AQ65
( KJ974
pass

But make the West hand slightly more suitable and he could go on to slam: -

West
East (B)
West

East

(1)
transfer to (’s







(2)
normal accept

( A96
( 4
1NT

2NT
(1)
(3)
2nd suit, forcing
 

( A876
( 9
3(
(2)
4(
(3)
(4)
waiting

( QJ
( K108632
4(
(4)
5(
(5)
(5)
pass or correct



( AQ65
( KJ974

6(
pass




________________________
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